Lietuvos Respublikos svietimo ir mokslo ministerija Vilniaus universitetas

Kenguros konkurso organizavimo komaitetas Lietuvos matematiky draugija

KANGAROO 2022

Time allowed: 50 minutes NIPPER E | \|
1-2 GRADES

Calculators are not permitted

QUESTIONS FOR 3 POINTS

1. WHICH BOX CONTAINS THE MOST TRIANGLES?
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2. AREK CUTS THIS PICTURE IN HALF AND PUTS THE TWO PIECES TOGETHER. WHICH
OPTION SHOWS THE TWO PIECES OF AREK’S PICTURE? % %
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3. THE PICTURE SHOWS 5 IDENTICAL BRICKS. HOW MANY BRICKS ARE TOUCHING Gya—

EXACTLY 3 OTHER BRICKS?
A)1 B)2 C)3 D)4 E)5

4. PETER PUTS THE 4 PUZZLE PIECES SHOWN

TOGETHER TO MAKE A SQUARE. WHICH PICTURE P
CAN HE MAKE?
A) n B) . C) n D) n E) n

5. THERE HAS TO BE 2 COINS IN EACH ROW AND EACH COLUMN. WHERE DO YOU
NEED TO PUT THE FINAL COIN?
A)A B)B C)C D)D E)E
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6. SOME INK SPILLED ON A PIECE OF SQUARED PAPER, AS SHOWN IN THE
PICTURE. HOW MANY OF THE SQUARES HAVE INK ON THEM?
A)16 B)17 C)18 D)19 E) 20 .C
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QUESTIONS FOR 4 POINTS

7.

10.

11.

12.
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ONE SANDWICH AND ONE JUICE TOGETHER COST 12 EURO. ONE
SANDWICH AND TWO JUICES TOGETHER COST 14 EURO. HOW MUCH

DOES ONE JUICE COST? @
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A)1 B)2 C)3 D)4 E)5

. ONE ANIMAL SLEEPS IN EACH OF THE BASKETS. THE KOALA AND THE FOX ARE SLEEPING IN

BASKETS WITH THE SAME PATTERN AND SHAPE. THE KANGAROO AND THE OSTRICH HAVE THE
SAME PATTERN ON THEIR BASKETS. WHICH BASKET IS THE PUPPY SLEEPING IN?

A) B) C) D) E)

. KANGA WROTE DOWN A NUMBER AND ‘ ‘ ﬂ '
THEN COVERED EACH DIGIT WITH A SHAPE. '

DIFFERENT DIGITS WERE COVERED BY DIFFERENT SHAPES, AND THE
SAME DIGITS WERE COVERED BY THE SAME SHAPE. WHICH NUMBER
COULD BE WRITTEN UNDER THESE SHAPES?

A) 34426 B) 34526 C) 34423 D) 34424 E) 32446

WHICH OF THE FOLLOWING PICTURES WILL WE SEE WHEN WE USE THE STAMP
SHOWN?
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KANGA WANTS TO REACH THE KOALA WITHOUT GOING THROUGH ANY OF m @
THE COLOURED SQUARES. WHICH ROUTE COULD SHE TAKE? u D
o
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IN ONE OF THE PICTURES BELOW, A SHAPE IS USED THAT CANNOT BE SEEN IN THE OTHERS. IN

WHICH PICTURE IS IT?
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QUESTIONS FOR 5 POINTS

13.

14.

15.

16.

17.

18.

THE SUM OF THE FIVE NUMBERS IN EACH HOUSE IS 20. SOME
NUMBERS HAVE BEEN PAINTED OVER. WHAT NUMBER IS HIDDEN
UNDER THE QUESTION MARK?

A)3 B)4 C)7 D)9 E) U4

KATRIN BUILDS A PATH AROUND EACH SQUARE USING TILES LIKE THIS ONE: :ltl How MANY
2
TILES DOES SHE USE AROUND A SQUARE WITH SIDE 57

A)10 B)11 C)12 D)14 E) 16

ANN HAS 4 STICKERS . . ZCKA SHE STICKS DOWN THE STAR AFTER SHE STICKS DOWN

THE SQUARE. SHE STICKS DOWN THE STAR BEFORE SHE STICKS DOWN THE TRIANGLE. WHICH
PICTURE COULD SHE END UP WITH?

B8 e L& 7

DINO MOVES FROM THE ENTRANCE TO THE EXIT BY GOING THROUGH ROOMS. HE CAN ONLY GO
THROUGH EACH ROOM ONCE. DINO ADDS UP THE NUMBERS AS HE PASSES THROUGH EACH ROOM.

WHAT IS THE HIGHEST TOTAL DINO CAN MAKE? | | | |
Jf T
56 18 -

A)27 B)29 C)32 D)34 E)36
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IN THE PICTURE, EACH SHAPE STANDS FOR A DIFFERENT NUMBER. WHICH O O 18

NUMBER SHOULD BE WRITTEN IN PLACE OF THE QUESTION MARK?

A)10 B)12 C)14 D)16 E)I8 tA OO
A O A10
14 7

THERE ARE FIVE NUMBERED CARDS ON THE TABLE AS SHOWN. YOU MAY SWAP

TWO CARDS AT EACH STEP. WHAT IS THE SMALLEST NUMBER OF STEPS NEEDED

TO PUT THE CARDS INTO INCREASING ORDER?
A)1 B)2 C)3 D)4 E)5
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